Bilateral Laplace Transform

This program calculates the Bilateral (two sided) Laplce Transform.
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The two sided Laplace transform is defined as:

R.O.C: (range of convergence) is defined as the part of the complex realm        

             S in which the above integral converges. 

The Inverse Laplace Transform is defined as:
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The program is easy to use and does the transforms fast and accurate.
Installation

Copy the program’s files into a folder names Laplace2, make sure that all the files are Unarchived   and from the command line type INSTALL().

After a few seconds you will be prompted that all the subroutines have been installed and that the main program is about to be run and installed.

After the program runs you can use it for the first time or simply press ESC and the installation is complete.

Running the program:

At  the command line type LAP(), the main screen of the program 

Look like this:
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        F5: Settings:

This program can use two different types of settings for entering and viewing signals: either using the regular way or the “pretty print” way.

You can set a different setting for viewing and for entering the signals.
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In order to change between those setting press F5, choose between viewing and entering and specify whether or not to use the pretty print mode:

In the regular way the entering of a signal is done using a dialog box and viewing of a signal is done with a table.

In the pretty print way the entering and viewing of signals is done using the program EQW (copyrighted to E.W), EQW  must be installed at your main folder:

	
	REGULAR WAY
	PRETTY PRINT

	Entering
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	Viewing
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If you want to use the pretty print mode you can download EQW from

triton.towson.edu/users/~bbhatt1/ti/eqw.htm.

After you download it, just copy the files EQW, RCLCLIP and STOCLIP  into your main folder and you’re done.
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F1: Adding a signal to transform

 There are 4 types of signals:

 
Right signals: signals that equal zero up to a certain point in time.





       For example: cos(2t+3)*u(t-4.3).



Left signals: signals that equal zero from a certain point in time 




     forward. For example : cos(2t+3)*u(10-t)

Bounded signals: signals that are zero all over the time axis  



    except for a finite strip of the time.




    For example : cos(t)*u(t-1)*u(2-t)

Dirac’s delta, δ.
In order to add a signal, choose it’s type and follow the prompted instructions.

For left, right and bounded signals you will be asked to enter the signal and then the starting point, ending point or both.

For Dirac’s delta, you will be asked to enter its location and it’s amplitude.

F2: Viewing entered signals.

Press F2 in order to see the signals that you’ve already entered.

F3: Transforming.

The transformation process is made of several stages.

After you press F3 the program will try and minimize the entered signals, in order to save time, when the minimizing process is done it will transform the entered signals one at a time, right signals first, then left signals, bounded signals and Dirac’s delta at the end.

The program cannot transform every signal (because not every signal even has a transform), therefore, after trying to transform a certain signal it will mark it with √ or Χ indicating whether or not the transformation was successful.

When the transformation process is done the result and the R.O.C are stored and can be seen and accessed by typing

RESULT() and ROC() at the command line.
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F4: help.

The built in help provides explanations to most of the program's features.

INVERSE LAPLACE  TRANSFORM

In order to transform a signal from the S realm to the time axis use the function ILAP() at the command line. 

The function’s syntax is as follows:

ILAP(signal at S domain, low r.o.c boundary , high r.o.c boundary)
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For example:

Will provide the answer: cos(t)*u(t).
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Authour:  carmel nahmany. 



Carmeln@ee,bgu.ac.il
This program is copyrighted, feel free to share and distribute it as much as you want as long you’re not making any profit out of it.
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